This question paper contains 8 printed pages]
EN—70—2017
FACULTY OF COMMERCE
B.Com. (First Semester) EXAMINATION
OCTOBER/NOVEMBER, 2017
FUNDAMENTALS OF STATISTICS AND MATHS

Paper I
(MCQ + Theory)
(Saturday, 14-10-2017) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—10+30=40
N.B. :— () Solve Question No. 1 on OMR sheet during the first half an hour.

(iz1) Question No. 1 and question No. 2 are compulsory.
(zi1)  All questions carry equal marks.
(v) Simple calculator is allowed.
() U HH% 1 7 OMR = diededrE 8, 9ISl Ufedl 318 aF da
&
(i) T wEH 1 F 2 § AFEE oTRA.
(iii)  \E YA FHHE O 3.
(iv) WY RIS ATRTAE AT 3R
MCQ 10
1. (1) The word “Statistics” is derived from .................. .
(A)  Latin word ‘status’
(B)  Simple
(C)  Italian word ‘statrata’
(D)  Similar

“Statistics” & e 1S G 2 ) | M 8
(A)  oIH I ‘status’
(B)  Simple

(C) I IS ‘statrata’
(D)  Similar (FHEWR)
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‘Statistics’ is applied in .................... .

(A)
(B)
(®))
(D)

Commerce and industry
Economics
Business Management

All of the above

Hir@qchr\lt{l SILEN O|"\)Q"|| \r”d‘\l .................... .

(A)
(B)
(©)
(D)

(A)

aifores s seE
SRNI]
e DRI E
ERGIE]
What is Mean for the following observation ?
7,5,4,8,6
4 B) 6
7 D) 8

©)

Tl FOumgR "ied o ?

7,5,4,8,6
4 B) 6
7 D) 8

................. divide the total number of observations into two equal

Quartiles (B) Percentiles

Median (D)  Deciles

.......... U THU e eiel §F WHH 9T faem.
EGRED (B) ¥@H®

T D) <R
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Calculate Range from the following :
220, 210, 190, 250, 270
A 90 (B) 70
(C) 120 (D) 80
Qeld Hifedrean SER faer wmel .
220, 210, 190, 250, 270
A 90 (B) 70
(C) 120 (D) 80
Calculate the quartile deviation from the following :
Qg = 65 Q; = 35
(A 30 (B) 10
C) 15 D) 20
TIella Hifed=a $MER Iqe® fa=ed wmer :
Q3 = 65 Q; =35
(A 30 (B) 10
C) 15 D) 20

The correlation between temperature and sale of woolen garments

L N .

(A)  Negative (B)  Zero
(C)  Positive (D) None of these
L Qut LT N N fee
(A)  THNHE (B) Y=

(C)  HHRHS (D) Sl e
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(8) Coefficient of correlation cannot be .................. .
(A) Less than 1 (B) Equal to 1
(C) More than 1 (D) All of these
TEEey Uik R T vd .
(A)  THTET BT (B) TH
(C) TUHUE S (D) e T
(9) produced the scientific mode of find out correlation
coefficient.
(A) Karl Pearson (B)  Kenny
(C)  Galton (D)  Keeping
.................. I Tegsy U e Ted el
(A) e TerEA (B) =it
(C)  TereA (D) femcdfim

(10)  Regression is the word used by Sir Francis Galton for first time

11 o R .

(A) 1977 (B) 1677

C) 1777 (D) 1877

ST B YT UYMW WX WIEIH WOl FIRY v %3
EIRNGIE

(A) 1977 B) 1677

(C) 1777 D) 1877
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Theory
2. Calculate Mean and Median from the following data : 10
Marks No. of Students
10—20 10
20—30 15
30—40 25
40—50 30
50—60 11
60—70 06
Teitel Hifgdiore HILd o HEAHhl el :
T faeneai=ft de
10—20 10
20—30 15
30—40 25
40—50 30
50—60 11
60—70 06
3. Calculate the standard deviation and its co-efficient from the following
data : 10
Class Frequency
20—40 06
40—60 09
60—80 15
80—100 17
100—120 11
120—140 14
140—160 05
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Teitd Hifedi=a STER JHI-fage oo &= o Fiel -

it FRaTRar
20—40 06
40—60 09
60—80 15
80—100 17
100—120 11
120—140 14
140—160 05
Or
(fenam)
Find out quartile deviation and its co-efficient from the following data :
Age in Years No. of Students
50—55 02
55—60 07
60—65 24
65—70 27
70—75 13
75—80 03
Tleiel Aifgdr=a SR =g fa=em ofr ®m=n e & .
g (o) faemeft d@&n
50—55 02
55—60 07
60—65 24
65—70 27
70—75 13
75—80 03
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4. Calculate the Karl Pearson’s coefficient of correlation from the following
data : 10

x y

70 50

55 40

40 60

60 70

25 30

50 45

35 55

80 65

85 80

Use 60’ and ‘50’ as assumed mean of x’ and ‘y’ series.

o

Tl Hifediaed shid fUeRE ar=1 9g9dy U &el .

& q
70 50
55 40
40 60
60 70
25 30
50 45
35 55
80 65
85 80

‘g’ aTfor ‘A’ HICRTEIST STIRH 60° MU 50’ TRIA HILA AT
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Or
(fenam)
Given :
x y
Mean 36 85
Standard Deviation 11 08
r between x and y is 0.66. Find regression equation x on y and estimate the
value of x when y is 75.
feeret -
x y
e 36 85
gAY ferere 11 08
x 30 y Al » = oI = 0.66
T FHRIT x on y TIR H&A x o Yo &lel. y o o 75 ol o
EN—70—2017
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